
Naam: 　　　　　　　 Datum: 　　　　　　 Score: 　　　

Exponenten van 10

−2 × 10 =5 8, 34 ÷ 10 =

7, 7 ÷ 10 =4 10 =2

9, 21 ÷ 10 =3 10 =3

7, 34 × 10 = 1 × 10 =3

2, 33 × 10 =3 9 × 10 =5

2, 19 × 10 =3 10 =4

6 × 10 =4 1 × 10 =

3, 28 ÷ 10 =2 10 =6

7 × 10 =3 10 =2

2, 98 ÷ 10 = 10 =4
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Naam: 　　　　　　　 Datum: 　　　　　　 Score: 　　　

Exponenten van 10

−2 × 10 = −2000005 8, 34 ÷ 10 = 0.834

7, 7 ÷ 10 = 0.000774 10 = 1002

9, 21 ÷ 10 = 0.009213 10 = 10003

7, 34 × 10 = 73.4 1 × 10 = 10003

2, 33 × 10 = 23303 9 × 10 = 9000005

2, 19 × 10 = 21903 10 = 100004

6 × 10 = 600004 1 × 10 = 10

3, 28 ÷ 10 = 0.03282 10 = 10000006

7 × 10 = 70003 10 = 1002

2, 98 ÷ 10 = 0.298 10 = 100004
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